#1L—X BF5000m 1#GR) 17:30

AAGEE 13.0840 K #(F1+4L3v7° 0V 19h) 2015.7.17

KR 13.4°C R 83% 55 2018.4.14
fAID ORD/}un— K £ 2Uh'F & ZRER B it &%
1 1 o A 734 a7 (RYA) LER @ 14.34.50
2 2 WA F= YYEh oY (RYH) LER © 14.45.31
3 3 M %F Lhq anaq (TVH) L8R ) 14.25.25
4 4 ERE J7°N) Y (RYH) L8R () 14.54.13
5 5 B E F¥34= 492 (hEEHN) LEE O 14.52.52
6 6 B ESF 7V e (RPEERN) LER () DNS
7 7 &k & ZVAh X39rf (hEI) L8R () 14.51.90
8 8 B+ I 41h IATH (TVH) L8R ®) 14.53.62
9 9 B E NEN LA (RYA) L858 () DNF
10 10 WA #X YIEL 29594 (TVH) LER @ 14.48.14
11 1 FE AR Wy % AT (FEEAN) LEE ) 14.49.63
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ik ORD/FunN'— A4 L
1000m 9 02.48
2000m 9 05.40
3000m 3 08.37
4000m 3 11.35
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2L —R BF5000m 240(3R) 17:50

K[l 13.5°C R 84% 5] 2018.4.14
fAAID ORD/Fun'-— K £ 2Uh+ & ZeRER B 50 8%
12 1 IR 18 YING hIT FRERER EBRE ) 15.04.49
13 2 B @A IvES oY (EEB®BFXE) BWE ®) 15.32.68
14 3 FH&EA TY8 nrk (LBEBEXE) BIRE (24 16.37.29
15 4 wa & IY4Y 4R (LEREXRE) =B8R () DNS
16 5 £ E B #24° 7%+ (BHEREER) SHME () DNS
17 6 RO #LE ¥h9F 7% (REXZ) LEBR () DNS
18 7 it A Thh7 19% (2E) LBR ) 15.25.48
19 8 AR X hIng 394 (LEB®EFXE) LBE (@ 16.15.57
20 9 #F K& ) 4y (EHEXER) BHE () DNS
21 10 Hf HX 41h 39732 (REEEXE) LR () DNS
22 11 Nk R E hIhT 47X (BHREER) SHME () DNS
23 12 5 Fsk FAYR THY (LBEEXE) LR 05 15.56.00
24 13 AA B 4 19% (LEREXE) EER () DNS
25 14 #EL &8 3247 +51 FERERER ERE U6) 15.56.69
26 15 JFJT iE— T7EN YT (BEER) EIIWLWE  (12) 15.42.94
27 16w &7 AT3 )aman (BEER) EIWE (2 15.06.34
28 17 F# BN INEVYUS (BEER) EIWE ) DNS
29 18 1T Y N Ye+h ans4 (LEREFEXE) ZEBEE © 15.23.88
30 19 ] E 357 AELEE VA (GERFEXE) RELUE ® 15.24.85
31 20 FEHE BE/N 7974 )1%9) R (KEFESR) wag  18) 15.59.56
32 21 gy =iE 197 9% (BEER) EIWE @) 15.21.21
33 22 —=EiE} 1F3% nvh (LBEFEXRE) ZRE () 15.35.01
34 23 EEREKX THY'+ IHen (LBEBEXE) LKBE U3 15.44.20
35 24 RE B4 v a9k (LBEBEXE) LBE 19 16.01.21
36 25 EffER PN 145 FEERER ZEEE 04 15.55.47
37 26 {REE FiK 1) Y294 FRERER) EBREE 10 15.37.52
38 27 Bl =E VUV, FRERER BEE O 15.19.58
39 28 K fith 4 vy (BEER) LR (20 16.11.99
40 29 ¥ Ak Th hA'% (LBEEXE) LR (23) 16.23.47
41 30 FHOBEKR 19°F hirlb (BEER) EILE ) DNS
42 31 ffE 15 E %4 L4V (LB®EFXE) LBE O 15.38.75
43 32  HEEA 1K Y] (EEHA) wmAag (22 16.20.18
44 33 HE B8 ¥ ru4Fan KhteA) B8R (25) 16.46.59
45 34 LA $EA Yer 49k (BEER) EIWE  an 15.59.40
(5vT484L])

ik ORD/FunN'— EEPN

1000m 2 02.55.62

2000m 8 05.58.03

3000m 16 09.01.58

4000m 16 12.01.43
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KR 14.2°C R 81% 55 2018.4.14
fBAID ORD/Fun— K £ 2Nt Bl BEER  JBAL it 8%
46 1 K=l hv1y K= ey (FEEN) LBR () DNS
47 2 Fe—IR 74707 Fr=MR 74502 (UFERF—I) LEBE () DNF
48 3 = [{E Ng a9’ (KIFRE) EERE () DNS
49 4 AT fEZBY LT Y UIRY (JFEXF—IL) EBE @) 14.29.22
50 5 A BEX ThEr 2944 (JFERF—)L) IR (@ 14.22.72
51 6 WMy 3= WMy 2= (JFEXF—IL) EBE Q) 14.28.05
52 7 BA B 1949z 1947 (KIREE) EEE 19 14.54.04
53 8 TEEX hy 3HEn (JFERF—)L) LR (26) 15.11.31
54 9 +P Kt 9IAN 4ARG (KIFH ) EEE (24 15.01.74
55 10 K& #X T14= o4 (JFERXF—)L) RIS (16) 14.47.36
56 1" PR V4 19% (F¥ =) wag @ 15.15.57
57 12 fEERE YIN) VY (LR EEE (1) 14.22.22
58 13 X #E 91L7 hA'F (KIREE) mER () DNS
59 14 FE#E 5h9% HINy EAVH (L5 EER (12 14.44.52
60 15 ARRE #E hikth $+v (JFEXF—JL)  EBE 10) 14.42.07
61 16 &M k& hAh 1457 (JFEXF—IL) EBE (®) 14.40.79
62 17 g @ Th=y v (NTTEEEXK) KERFF (D 14.38.91
63 18 #tE EE L7hs 19% (JFERXF—)L) g (%) 14.31.85
64 19 #%E &K ) & (FEI) LBR (15) 14.46.95
65 20 [EH EHA Thy any (KIFHE) EEE  Aan 14.44.26
66 21 by (% YYT 194 (JFEXF—)L) LEE (22) 15.00.95
67 22 LA BH MAh A9RT (JFEXF—JL) BB 13) 14.44.97
68 23 BA#RE NOEN WY (REER) wag  18) 14.47.90
69 24 K STEE IYLT U (JFERF—)L) IN=T S ()] 14.35.15
70 25 KT &EFE 1145 a1 (LEB®EFEXE) LBE (23 15.01.26
71 26 NN *47 Y2y ON=T 3 -PN-2) LR (21) 14.57.27
72 27 Lim EHi Yng Tyt (st EER (25 15.04.25
73 28 EEE kot A’y (KEESR) IAE  (28) 15.27.40
74 29 MXREFE ThEh T9A’14 (LB EEERE (20 14.54.39
75 30 #HH AKX 7Y4 a4 (REEM wog 14.41.90
76 31 KIRHE X T34 294 (L5t EER 7 14.47.66
77 32 W VIV EbY (KHEER) wAg (29 15.29.46
78 33 KB EKX t14= a94 (JFERF—)L) EILE  (14) 14.46.62
79 34  EHEE WEE VN JFEXF—IL) EBE (30) 15.32.81
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4000m 18 11.35.20

3/3R—=T



